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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& AnZo CÎma H$mo àíZmZwgma EH$ eãX, EH$ 
dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 2 
A§H$m| H$m h¡&
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1)	 (i)	 Draw the molecular structure of nicotine and morphine.

		  {ZH$moQ>rZ VWm ‘moa’$sZ H$s AmpÊdH$ g§aMZm ~ZmB¶o&

	 (ii)	 What are steriods ?

		  ñQ>ram°BS²>g ³¶m h¡?

	 (iii)	 Give the classification of enzymes.

		  E§OmB‘ H$m dJuH$aU Xr{OE&

	 (iv)	 Give the name and structure of two five membered hetero 

cyclic compounds with two hetero atoms.

		  Xmo {df‘ na‘mUwAm| dmbo nm±M gXñ¶¶r {df‘ MH«$s¶ ¶m¡{JH$m| Ho$ Zm‘ 
d g§aMZm Xr{OE&

	 (v)	 Give two methods for synthesis of pyridazines.

		  nmarS>mBOrZ g§íbofU H$s Xmo {d{Y¶m± Xr{OE&

	 (vi)	 What do you understand by Beta condensation?

		  ~rQ>m g§KZZ go Amn ³¶m g‘PVo h¢?

	 (vii)	Give two applications of 13C NMR.

		  13C NMR Ho$ Xmo AZwà¶moJ Xr{OE&

	 (viii)	Write the difference between optical rotation and optical 

rotation dispersion.

		  àH$m{eH$ KyU©Z VWm àH$m{eH$ KyU©Z n[ajonU ‘| A§Va {b{I¶o&

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Explain physiological importance of prostaglandins.

	 àmoñQ>o½bmS>rZg H$s H$m¶©H$s¶ ‘hÎmm H$mo g‘PmBE&
	 OR / AWdm
	 Explain the structure of PGE2α and PGE3α by IR and H1 

NMR spectral data.
	 IR VWm H1 NMR ñno³Q´>m S>mQ>m Ûmam PGE2α VWm PGE3α H$s g§aMZm 

{b{IE&

3)	 Enzymatic action is highly specific. Justify.

	 E§OmB‘ {H«$¶m A{V {d{eîQ> hmoVr h¡& gË¶m{nV H$s{OE&
	 OR / AWdm
	 Define engymes and give the mechanism of enzyme catalysis. 

E§OmB‘ H$mo n[a^m{fV H$s{OE VWm E§OmB‘ CËàoaU H$s {H«$¶m{dYr Xr{OE&

4)	 Give four preparations and chemical reactions of oxiranes.

	 Am°³graoZ Ho$ Mma g§íbofU VWm amgm¶{ZH$ {H«$¶mE± {b{IE&
	 OR / AWdm
	 Give preparations and chemical reactions of thiazepines. (Any 

four)
	 WrAmOrnrÝg Ho$ ~ZmZo H$s VWm amgm¶{ZH$ A{^{H«$¶mE± Xr{OE& (H$moB© 

Mma)
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5)	 Discuss the effect of steric hindrance on the chemical shift.

	 amgm¶{ZH$ {dñWmnZ na {Ìdr‘ ~mYm Ho$ à^md H$mo g‘PmBE&
	 OR / AWdm
	 Write a note on coupling constant.

	 ¶w½‘Z pñWam§H$ na {Q>ßnUr {b{IE&

6)	 Write explainatory note on.

	 {dñV¥V {Q>ßnUr {b{IE …-
		  INPET 
			   OR / AWdm
		  19F NMR

7)	 How many 19F NMR absorptions will be there for PF5 and SF4

	 PF5 VWm SF4 Ho$ {bE {H$VZo 19F NMR AdemofU hm|J| ?
	 OR / AWdm
	 Predict the number of signals in 13C NMR for the following :
	 {ZåZ Ho$ 13C NMR  ‘| {g½Zb H$s g§»¶m kmV H$s{OE …
	 (i)	 CO2 gas
	 (ii)	 O = C = S

	 (iii)	 Diamond Crystal (S>mB‘ÊS> {H«$ñQ>b)

8)	 Write the limitations of rotator dispersion.

	 KyU©Z n[anojU H$s gr‘mE± {b{IE&
	 OR / AWdm
	 Explain cotton effect

	 H$moQ>Z à^md g‘PmBE&

9)	 Explain cosy with suitable examples.

	 gwg§JV CXmhaUm| Ho$ gmW cosy H$mo g‘PmBE&
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	 OR / AWdm
	 Explain octant rule

	 Am°³Q>|Q> {Z¶‘ g‘PmBE&

	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo 500 eãXm| ‘| 
n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Explain the structure and synthesis of chlorophyll.

	 ³bmoamo’$sb H$s g§aMZm VWm g§íbofU H$mo g‘PmBE&

11)	 What are enzyme inhibitors ? Discuss the type of enzyme 

inhibitors.

	 E§Om‘B‘ AdamoYH$ ³¶m h¢ ? E§OmB‘ AdamoYH$m| Ho$ àH$mam| H$s {ddoMZm 
H$s{OE&

12)	 Discuss the factors affecting the chemical shift of 13C NMR.

	 13C INR ‘| amgm¶{ZH$ {dñWmnZ H$mo à^m{dV H$aZo dmbo H$maH$m| H$s 
{ddoMZm H$s{OE&

13)	 Give measurement techniques for ORD and CD.

	 ORD VWm CD H$mo ‘mnZ H$s VH$ZrH|$ Xr{OE&


